HRS
BETRER AR HEH

Ei+XE4 EEAIEEEHR AWLEEHER LR

[AILELEHFHERMERN FHI0EE XBREXNKEHRANE]

ERES0FEE
1. BREAER () ORE (BT T IWRThX)

st ST e

2. BH T E (BBRATHEERBX)

ot = xR R

26



RBZEXNEME(HI0~R1)

AWEEH#FHREFERN 3
$ERE TEXER AE HE REIGAT
AN R 33,450 m
IS FBENF 50900 m (1L R EEFTILERTE )BT K B 1R ~ E8 R d IR
X E 5 ‘
SRDEXE 2,000 m
RN 3400 m |EBETHZEER(HEZEEZIRELR)
H30EH&E
' ¥R b PR 418 |BFIE. BEIE. HASHRIE. XBE)IE
SHE YEIA—/ LA 6,300 m2 |BLUE—r x)LEEREEITO ~ J\BERZ /— TR fHE (2 TK)
ES = B FIHiE S 26 m |BETHER(BHERERERETTUE)
[ 5%t 5 VEEETHIE 1 BEFr|EEMTEHER (EER )
AN R 27,260 m
FIS5-FEXF 7,760 m LU B EEATILER TR )BT K= A WiR ~ 88 T IWGER
XE#F (EE-FE) | :
SRR XE R 730 m
RIZEHE-FE
& ARl 3400m  |BEETEEE(EEEZREEH)
BR(FE) BRI 448 |/\ERRHE. TEERIE. ENRE. EHILE
SHE(FE) Fr—ERATE R 1 & |[EaRE T KM (KRB T)

a7



dp

=)

|
il
ol

AR EEET 34tk

O--* | H30=#E
R1E&E-FE

mENE
BN E |

ERNEREIA# S TS (H30, R1)
AWEEERNXE#H IS (H30, R1)

= 1,270 W==0.50~8.00~0.50 = 7.00{ L&)} =
L1210 =075~ w-aoo- oo~nsc~a 7=)80FY v L

b
—
™D
—
—
~o

4
Q

din

&)

N
L=14950 W=1.75~650~250=1075 =Y, =1.50~650~075~350=122 L=3,150 W=200=~0.25~§ 50~0.25~200=11.00
L—I,NW—I? ~9.75~2.50=1400-7 L=1300 W=100~ L=1340 =420 W=1.50~150~6.50~1 50~2.50=1350
E ,5’ﬂw=215~550~150“|l.5—] W=Ib°—656~)00‘350 650~ 1 00=55 W=1.00~660~1.00=650 53 ‘#ﬁ o e

—
. "'/j
2L LS
o
)
{
S

S ﬁ;@#aﬁﬁﬂz;mso)( FIIiE. Eaimﬁ HABRIE. KB | Tz

‘fv*N

ﬁél 1,752 /24h
ZTH,J 2 24h

(HERH-F
(HER-5

i

i
Byl R S it

i

i

1

[ .:';f" RN
SR

Na

S
I

A ST
HICE A7, 5470

L 21144 ki)

: B pia e

RY[e =) Bh i) o
H=! 68(45) < | e
‘{%ﬁ%l“sw@nﬂ,—%l g
/ | { s |
1

EHIRIB (S, 55 &
rgﬁrngm,

#ﬁﬂ*(Hso)

R = ..l,a;c:i")_. ) PN

2,
~ NN A ) ,
~ ] Jlﬁlld'—/\—l/«r(Hso)
/
k
!

gy ) ) I S _c»' rsias Varts

o { ‘.97.4’",}7’20 PR § B 74
el e
TRl Eﬁﬁﬂmﬁl}#ﬁfﬁ‘(Hso) e
|1 99= 5917§412n 7,222AE£z4h S5 Jle gyﬁmgm ' SIS H"C:: T AR

e e T “ERRBLE (R) R TEAT. B R

AL

0 (i 3

=

iz B L Hh X [E S 18 T3 (H30, R1) 4 )11 #th X E & S T2 (H30, R1)

SR RS

B L O— 1 SHIhho)

fnd iy

EixEs RAWMFEFES EEANEESRHR HR 1: 50,000

&=



AWTRE RN 4 6Ker SRET NS A 7oK

HYE|
HYE]

=
=

—
—_—
™~

B B R AR B RS T = (H30, R1)
ALEEENXE#ITE (H30, R1)

L5630 W=0.50~6.50~050=7. -

50

L=830 W=300~200~ 3 L=1,000 W=1.50

1.00~6.50~1.00~250 =135 ; 7.00~2 60~ 3.00= 17.00 L=5740 W=3.00~2.00~7.00~2.00~3.00= 17.00 Li ~700~100=0.50
[=1.030 W=400~150~0650~ 1 00~6.50~1 50~ 400 =2500— Z

—_—
—_—
~>

[
4

L==780 W=3.00~200~7.00~2.00~3.00 = |7.0(
L=270 W=2.50~ 0

=100 W=225~050~850~050=0.75 H
i —L=1040

!

=)

-1 3 EE)
N )

—
L

(+ X H B

\
et

\IS,Eiﬂ‘E‘?i;h i
h

(AN HEGE

g |
"'_LEB“{' n, W=16. On(20.

B7Y
<l

)BhER

42 )11 30 X E & 54815 T2 (H30. R1)

-

chi 1 O— | 3t
MO E D B

FE4FREd HFAuhEEEER WOATNIEEEIXREE &£ 1 . 5N ANN




